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Multiple choice questions:
SUBJECT: IT

1. You have just finished attending a class in a biology lab. You have to go back to your
classroom for other classes. After the lab, should you wash your hands?
(a) Not really, you did not use the washroom as such.
(b) You can just clean your hands under running water.
(c) You should follow your hand-wash routine — wash, rinse and dry.
(d) None of these above

2. Do you think people living in hill stations can skip taking bath for many days?
(a) No, irrespective of the climate, one should take a bath regularly.
(b) Not taking bath for many days is acceptable for people staying in cold climate.
(c) If you wipe yourself with a wet cloth, that is enough.
(d) None of the above

3. Radha wants to grow her hair and she applies a lot of hair oil. She does not wash her
hair for days and sometimes it smells bad too. What would be your suggestion to
her?

(a) She can leave the oil in her hair; after all it helps her hair to grow.

(b) She can leave it on at night and wash her hair every day before leaving
home.

(c) She should not apply oil at all.

(d) She can apply the oil and pour a little water on her hair before leaving home
to reduce the smell.

4. What does it mean to be stress-resistant
(&) You never have stress in your life
(b) You know how to handle stress efficiently
(c) You have too much stress in your life
(d) You enjoy stress

5. The factor that helps in building self confidence is setting up your
(a) Goal
(b) Good time
(c) Stress
(d) Knowledge



SUBJECT: ENGLISH

. Before this year, | move out of my parents’ house because | did not have
a job.

a. may not

b. cannot

c. should not

d. could not

But now that | have finished college and have a job, | realize that living at home
drive my parents and me crazy.
a. could
b. would
c. should
d. would have

. Unfortunately, it's not so easy to find an apartment in the city. Without an agent,
you not be able to find all the available listings.

a. ought to

b. must

c. should

d. might

Before now, | coudn’t sign a lease, but now | because | am twenty-one.
a. able
b. can
c. can able
d. can do

My best friend said, "I help you move next week."
a. able to
b. would be able to
c. be able to
d. will be able to



SUBJECT: MATHEMATICS

1. The three steps from solids to points are
(a) Solids - surfaces — lines - points
(b) Solids — points — lines - surfaces
(c) Surfaces — points — lines - solids
(d)Solids — lines — surfaces - points

2. If AB=PQ and PQ= XY, then AB=XY is based on Euclids:
(a) axiom 1
(b) axiom 2
(c) postulate 1
(d)postulate 2

3. If AB= x+3, BC= 2x and AC = 4x-5 then for what value of ‘x’, B lies on AC?
(a) 8
(b) 5
(c)2
(d) 3

4. The things which coincide with one another are:
(a) equal
(b) unequal
(c) half of same thing
(d) triple of another

5. Euclid divided his famous treaties “ THE ELEMENT” into :
(2)13 chapters
(b) 12 chapters
(c) llchapters

(d) 9 chapters



SUBJECT: PHYSICS

Q1.Two factors effecting the magnitude of the force of gravity between 2 objects are
(a) mass and distance
(b) mass and matter
(c) distance and weight

(d) weight and mass

Q2.What is the S.I unit used to measure weight?
(a) grams
(b) liters
(c) pounds

(d) newtons

Q3. The force of gravity acting on an object is the object’s
(a) mass
(b) matter
(c) weight
(d)terminal velocity

Q4. You push on a tree with 20N of force. If the tree does not move, the tree is pushing
back on you with a force of

(a)20N
(b)40ON
(c)10N
(d)70N

Q5. What is the friction force acting upon an object on wheels?
(a) static
(b) sliding
(c) rolling
(d) fluid



SUBJECT: CHEMISTRY

. Which of the following is a compound?

(@) Air

(b) Water

(c) Soda water
(d) Pond water

. Which of the following is an element?

(&) Oxygen

(b) Carbon dioxide

(c) Sulphur dioxide
(d) Nitrogen dioxide

. Which 0f the following is a homogeneous mixture?

(@) Soda water

(b) Copper sulphate solution
(c) Starch solution

(d) Sodium chloride solution

. Which of the following materials fall in the category of a pure substance?

(@) Ice, milk, iron

(b) Calcium oxide, carbon dioxide, sodium chloride
(c) Brick, mercury, wood

(d) Iron, calcium oxide ,air

. Which of the following statement are true for pure substances?

(i) Pure substances contain only one kind of particles.

(i) Pure substances may be compounds or mixtures.

(i) Pure substances have the same composition throughout.

(iv) Pure substances can be exemplified by all elements other than nickle.

(@ () & (i)
(b) () & (iii)
) (i) & (iv)
(d) (i) & (iii)



SUBJECT: BIOLOGY

1. The most common type of ground tissue is
a)Epidermis
b)Collenchyma
c) Sclerenchyma
d)Parenchyma

2. Whose living cells provide tensile and mechanical strength ?
a) Collenchyma
b) Sclerenchyma
c)Phloem
d)Sclereids

3. Lignified elongated dead cells are
a) Parenchyma
b)Collenchyma
c) Sclerenchyma
d) Apical Meristems

4. Phloem in the plants perform the function of
a) Conduction of food
b) Conduction of water
c¢) Providing support
d) Photosynthesis

5. Husk of coconut is made of
a) Sclerenchymatous tissue
b) Parenchyma
c) Collenchyma
d) Chlorenchyma



SUBJECT: HISTORY

. Who was Robert Owen?

A.) A leading English manufacturer.

B.) A socialist who believed in the idea of cooperatives.
C.) Director General of Police.

D.) Both (a) and (b)

. In France, Louis Blanc wanted

A) the government to encourage cooperatives

B) to replace capitalist enterprises

C) to divide the profits according to the work done by members
D) all of the above

. The majority religion in Russian empire was
A) Orthodox Christianity

B) Catholics

C) Protestants

D) Buddhism

What was the new name given to the St Petersburg?
A) Moscow

B) Belarus

C) Petrograd

D) Ukraine

. When did the most devastating famines occur in Soviet history?
A) 1920-22
B) 1922-24
C) 1930-33
D) 1940-42



SUBJECT: GEOGRAPHY

1. Which of the following are young fold mountains:
a. The Aravallis
b. The Nilgiris
c. The Himalayas
d. The Sahyadri

2. A narrow opening in a mountain range which provides passage through the
mountain is:
a. Strait
b. Valley
c. Pass
d. Gulf

3. Which of the following physiographic division of India was formed out of
accumulation in the Tethys geosynclines?
a. The Himalayas
b. The Northern Plains
c. The Peninsular Plateau
d. The Indian Desert

4. Chilika ,Bhor , Nathula and Pal are:
a. Peaks
b. Passes
c. Ranges
d. All of above

5. Which of the following ranges are not part of the Lesser Himalayas or the
Himachal:
a. Pirpanjal
b. Dhauladhar
c. Mahabharat
d. Kamet
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